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Sottrazione (verticale) Nome:
Risolvi ogni problema. Risposte
1.
1) 75 2) 887 3 21 4 1.495
- 32 - 534 -1 - 41 )
3,
4.
5 275 6 7.071 7 9.238 8 1.602 >
- 237 -3.542 -1.265 - 70 6
7.
8.
9 53 10) 214 11)  9.429 12) 796 S.
.3 . 46 i 1 - 732
— — 10.
11.
12.
13) 473 14) 308 15) 5,795 16) 6.282 13
- 5 - 6 - 2 - 9
- 14.
15.
16.
17) 987 18) 87 19) 2.227 200 95 17
- 27 .57 - 60 - 66
18.
19.
20,
, 110 [95]90]85] 80| 75] 70] 65] 60] 55 | 50
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Sottrazione (verticale) Nome: Soluzioni
Risolvi ogni problema. Risposte
N 43
1) 75 2 887 3 21 4  1.495
- 32 - 534 -1 - 41 ” 353
43 353 20 1.454
3, 20
4 1.454
5 275 6 7.071 7 9.238 8 1.602 > 38
- 237 -3.542 -1.265 - 70 6 3.529
38 3.529 7.973 1.532
. 7.973
8 1.532
9 53 100 214 11) 9.429 12) 796 9, o0
-3 - 46 ; 1 - 732 . 168
50 168 9.428 64
1 9428
12, 64
13) 473 14) 308 15) 5,795 16) 6.282 13, 468
. 5 - 6 : 2 ; 9
468 302 5.793 6.273 w302
15, 5.793
s 6.273
17) 987 18) 87 19 2.227 200 95 7 960
. 27 .57 - 60 - 66
960 30 2.167 29 18, 30
. 2.167
20. 29
. 1-10 195(90(85|80| 7570|6560 |55 |50
Matematica J . commonCoreShestsit 11-20[45[40[35|30[ 25/ 20[15]10] 5 | 0
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Sottrazione (verticale) Nome:
Risolvi ogni problema. Risposte
353 50 9.428 43 7.973
38 1.454 1.532 64 168 1
3.529 20
2
) 75 2) 887 3 21 3.
- 32 - 534 - 1
— — 4,
5.
6.
7.
4  1.495 5 275 6) 7.071
- 41 - 237 - 3.542 8.
0.
10.
11.
) 9.238 8 1.602 9 53 12
-1.265 - 70 - 3
100 214 1)  9.429 12) 796
- 46 - 1 -732
. Semplificat 1-10 | 9283 75|67 [58[50] 4233|2517 |
[M atematlca] .G oot 9 112[8]0
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